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61- The house .......cceereeennenne since they bought it.

1) hasn’t repaired 2) wasn'’t repairing

3) hasn’t been repaired 4) wasn’t being repaired

62- He stopped to buy a drink ............ he was late.

1) while 2) although 3) since 4) when

63- Which sentence is grammatically wrong ?

1) Mary was a very kind girl, and everybody really liked her. Her sister didn’t like her, though.
2) The book published last year will be taught in this high school next year.

3) Although they could hear us very well, | tried to speak quietly and calmly.

4) While the heat was full on, the house was still cold.

64- This was one .......cceeevenes of her character he hadn’t seen before.

1) role 2) aspect 3) scene 4) site

65- That man was one of the political ............... of the past century.

1) orbits 2) giants 3) projects 4) fields
66- The organization’s main goal is to make adult education more .............. to everyone.
1) interchangeable 2) considerable 3) accessible 4) reasonable
67- Few politicians expect the ..................... of power to happen so quickly.

1) link 2) resource 3) term 4) transfer
68- A....... of vessels carries the blood around the body.

1) process 2) network 3) share 4) role

69- ltis also possible to ................. this virus to others through physical contact.

1) update 2) attach 3) come out 4) pass on

Cloze test:

Even though the internet is a global network, in many ways it looks like a small town with similar ......... 70.........
Let’s say you want to send or receive mail. The internet has electronic post ......... 71......... . There are online
......... 72.......... with millions of books and magazines you can read any time. Chat rooms are the .........73.........

equivalent of 24 hour coffee shops. The World Wide Web is like a huge supermarket, where you can shop,
watch a movie, listen to radio stations, etc.

70- 1) troubles 2) products 3) services 4) customers

71- 1) difficulties 2) snails 3) offices 4) engines

72- 1) stores 2) catalogs 3) galleries 4) libraries

73- 1) data 2) society 3) internet 4) telecommunication
Reading 1:

A lot of people don’t like to live in noisy, dirty and crowded cities. They are tired of the traffic, the pollution in
the air and rubbish spread in their environment. Then, they are happy if they can stay in village near their cities
for a short time. They enjoy the clean air, the quiet and the beautiful nature there. But because they can no
longer use the big stores, cinemas, and the excitement of the city, they don’t like to stay there for a long time.
On the other hand, villagers enjoy visiting the city for a day or two to buy the things they can’t get in their
villages. They may often find the city a rather frightening place and are usually happy when they get back to
their own villages.

74- According to the passage, villagers.............

1) may like to live in crowded cities 2) go to the city to watch movies.

3) enjoy the clean air of the cities 4) prefer to be in their own villages
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75- People who go to villages...............

1) like to stay there forever. 2) can use big stores there.

3) spend most of their time in traffic. 4) don't stay there for a long time.

76- As the cities are noisy and crowded,..............

1) people buy their things from villagers. 2) villagers don’t go to the cities nearby.

3) people in the cities like to be in quiet places. 4) villagers enjoy the excitement of the frightening cities.
Reading 2:

More and more often the term global village is used to describe the world and its people. In a typical village,
everyone knows everyone else and the people face the same kinds of problems. How can the world be a
village, when it is home to almost 6 billion people? Political and technological changes in the past century
made the global village possible. Political changes — the years following World War Il seemed to promise peace
and more equality among people. For example, the United Nations was founded in 1945 to help countries
resolve disputes peacefully. The end of cold war tension between the United States and the Soviet Union made
the global village more politically possible by opening new channels of communication between nations.
Technological changes — Technologically the greatest contributor to the global village is the microchip —an
electronic circuit on a tiny chip. The microchip has made satellites and computers possible. These forms of
high-tech communications allow news and ideas to travel quickly from a country to another country, making
people aware of their neighbors around the globe in “dramatic” new ways. Through the internet, we can get
information from computers anywhere and carry on electronic conversations with people everywhere.
Through television programs transmitted by satellite, we are exposed to many cultures. What will happen as
we move into the twenty first century and beyond? Almost certainly the development of the global village will
continue. Not only is this possible, but the challenges that the world faces-for example, pollution, population
growth, and conflicts among people will make it necessary.

77- According to the passage .......ccceevereeennnee.

1) in the global village everyone knows everyone.

2) political changes have made the global village impossible.

3) the years after World War Il seemed to bring peace among people.

4) nowadays people face the same problems.

78- Which of the following didn’t make the global village possible?

1) The foundation of the United Nations.

2) The cold war tension between the two superpowers.

3) New channels of communication between nations.

4) New forms of high-tech communications.

79- According to the passage which sentence about the microchip is not true?

1) It has played aniimportant role in making the global village possible.

2) It makes people aware of their neighbours around the globe.

3) It allows people to exchange information around the globe.

4) It makes people travel quickly from country to country.

80- The underlined word “ dramatic” in paragraph 3 means...........

1) noticeable and surprising. 2) shocking and frightening.

3) valuable and interesting. 4) unhappy and worrying.





